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Multiplication and Division ;f‘»

of Smaller Numbers

Multiplication

The repeated addition of the same number can be done by
multiplication.

1 bird has two feathers.

5birdshave2+2+2+2+2=10feathers.
In multiplication, itiswrittenas2x5=10.
We say that five twos are ten.
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1 dogs has4 legs.

3dogshave4+4+4=12legs.
In multiplication, itiswrittenas4x3=12.
We say that three fours are twelve.
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1 flower has 5 petals.

6 flowershave5+5+5+5+5+5=30 petals.
In multiplication, itis writtenas 5 x 6 =30.

We say six fives are thirty.
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'°5 <‘ Properties of Multiplication

<« Whenanumberis multiplied by 0, the product becomes 0.

ForExample : 9x0=0 62x0=0 98x0=0
<« WhenO0is multiplied by anumber, the product becomes 0.
ForExample : 0x6=0 0x86=0 0x428=0

<« When a number is multiplied by 1, the product becomes the
number itself.

For Example 18x1=18 82x1=82 436x1=436

J TR

Multiplication is the repeated addition of the same numbers.

o 0+4+0=0 “ 0+0+0=0 w 3=3
2times0=0 3times0=0 1time3=3
2x0=0 Ix0=0 1x3=3

.i ¥l Exercise W

A. Fillinthe blanks.

1. 16x%......... = 2. 98x1=...... S J x18=0
4. 0x0=......... 5. 126x......... =126 6. 0x143=.........
7. 175x%......... = 8. 1x1=..... 9. 152x......... =152
10. ......... x88=0 11. 420x1=......... 12.1x......... =198

<__ -/ Multiplication (Without Carry Over)

Example I : Multiply 12 by 3. Sh?l'_"Tg’rm
Solution 1 >
Step 1 : Arrangethenumbersfor multiplication. x 3
Step 2 : 2onesx3=6o0nes 3 6

Write 6inthe ones column.
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Step 3
Example II:
Solution
Step 1
Step 2
Step 3

: 1ltenx3=3tens

Write 3inthe tens column.
So,12 x3=36.

Multiply 43 by 2.

: Arrange the numbers for multiplication.
: 3onesx2=6o0nes

Write 6inthe ones column.

: 4tensx2=8tens

Write 8 in the tens column.
So,43 x2=286.

< i/ Multiplication (With Carry Over)

Example III
Solution

Step 1
Step 2

Step 3

Example IV :

Solution
Step 1

Multiply 85 by 3.

: Arrange the numbers for multiplication.
: 5onesx3=150nes=1ten+5o0nes

Short form
T O

4 3
x 2
8 6

Short form

Write 5in ones columnand carry 1tentotenscolumn.

: 8tensx3=24tens=2hundred+4tens

Now, 4tens+1ten=5tens.

Write 5inthe tens column and write 2 inthe hundreds

column.
So,85x3=255.
Multiply 46 by 4.

: Arrange the numbers for multiplication.
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Step 3

: bonesx4=240ones = 2tens+4ones

Write 4 in the ones column and carry 2 tens to the

tens column.

: 4tensx4=16tens = 1 hundred+6tens

Now, 6tens+2tens=8tens.

Write 8 in the tens column and
carry linthe hundreds column.

S0,46x4=184.

.‘\ ¥ Exercise W

A. Multiply the following.

P .

x 2

Short form

P .: P .,
x 3 X 6

B. Solve the following.

Division

Division is a technique of separating a group of things into equal
parts. The symbol of divisionis '+ ".

Sharing ordistributing a group of things equally in known as division.

~
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Example V : Suppose 16 mangoes are distributed equally among 3 e,
4 children. How many groups are there ?

Solution : Thereare4groups. n
Thisis done by dividing 16 by 4. 4) 116
Thisiswrittenas 16 +4=4, -1 g
Itisread as 16 divided by 4 isequalto4.

<, Properties of Division

<« Anynumberdivided by 1 gives the same number.

ForExample : 12 +1 =12 85+ 1 =85 109 = 1 =109
<« Anumberdivided by itselfisequalto 1.

ForExample : 82 - 82 =1 186 = 186 =1 494 = 494 =1
<« Zerodivided by any numberis zero.

ForExampIe' + 65 =0 0 + 1898=0 0 + 4280

( D|V|S|on on the Number Line

Divide '10"into group of 2.
or10+2=5
10-2-2-2-2-2=0

& & &6 @& O

i 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 -
<

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
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A. Divide onthe numberline.

'i ¥ Exercise @

1. < 6 1 2 3 é 7 é <_'9 1b 1'1 1'2 1'3 1'4 1'5 >
18+2-=
S R 6 7 8 9 10 11 12 13 14 15
10+5=
3. < (I) i i 3: lll é é llO 1I1 1I2 1I3 1I4 1I5 1I6 1I 1I8 1I9 2IO >
20+4 =
B. Divide the following.
1. Share 25 apples among 5 boys. A .
\ \ \ \ \ o | 5 5
\ \ \ \ \ \ \
\ \ \ \ \ \ \ \ \ \ \
\ \ \ \ \ \ \ \ \ \ \
\ \ \ \ \ A \ \
25+5= Each boy will get apples.
2. Distribute 12 books among 4 girls.
12 +4 = Each girl will get books.

~
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3. Ateacher distributed 24 pens equally among 6 students.

by s s s s ’oror s ’oror s
by oy s oo y oy ’
by s s s oo yoror s ’or s
24 + 6 = Each student will get

C. Divide the following.

L g.8-= o3 - 3. 28 :4-=

4 36+ 6= > 50+ 5 = 6. 60+ 10=

Points to Remember * -

pens.

K/
0’0

»

7
0‘0

becomes 0.

K/
0‘0

7
0'0

Symbol of multiplicationis 'x'.

7
0‘0

7
0‘0

Symbol of divisionis ‘+".

X/
0‘0

0 divided by any number, resultis O.

7 K/
0‘0 0’0

7
0‘0

Anynumber divided by 0, result is undefined.

Multiplicationis the repeated addition of the same numbers.
When a number multiplied by O or 0 multiplied by a number, product

When a number is multiplied by 1, the product becomes the same number.

Division is arepeated subtraction of the same numbers.

Anynumber divided by 1, resultis the number itself.
Any number divided by the number itself, resultis 1.
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A. Multiple Choice Questions (MCQs)
Tick (v') the correctoption:

1. 16x0=............
(i) 16 (i) 1 (iii) O (iv) 160
2. 85x1=........
(i) 85 (i) 1 (iii) O (iv) 285
3. 0+58=............
(i) O (i) 1 (iii) 58 (iv) 80
4. 135+135=............
(i) 135 (ii) O (iii) 35 (iv) 1
5. 50+1=...........
(i) 1 (ii) O (iii) 50 (iv) 99
B. Writeasmultiplication factand also find the product.
1. 7+7+7+7 S e, S
2. 2+2+2+2+2+2+2 = e, =
3. 3+3+43+3+3+3 = S,
4. 4+4+4+4+4 T S,
C. Findih%pmduct. 46 3 g c
L 5 2.| 3 3.0 4 4. o 5

D. Divideonthe numberline.
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E. Divide the following.
1. 9+9 2. 8+4 3. 12+3 4. 18+6
F. Divide the following.

1.8;56 2.6;54 3.5535 4.7;42

@@
-

Divide the number 36 by 1 and 0, one by one and find the answer in each
case.

S Lao
%’"ﬂty Objective : Toexhibitthe understanding of multiplication.
/// \\‘

Materials Required : egg-tray, gram seeds and multiplication fact cards (without the
answer)

Activities:

+ Students can work independently or in pairs
with one egg-tray and a bowl of gram seeds.

+* Onestudent picksacardsay 3 x2.

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
l
|
¢ The other student does the multiplication sum on !
the egg-tray as shown and says “3 groups of 2”. |
|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|
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** Thestudentsrepeatthe activity with the other cards.
Record the activity:

1. 3x2 3x2=6

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
:
|
o Thefirst studentthen calls out and record the answer “3 x2=6".
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
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